
SAP ABAP table EWAWA_DL_ETYP {DL ETYP}

EWAWA_DL_ETYP

MANDT [CLNT (3)]

MATNR [CHAR (18)]

FUNKLAS [CHAR (8)]

BAUKLAS [CHAR (8)]

PREISKLA [CHAR (10)]

ZWGRUPPE [CHAR (8)]

EAGRUPPE [CHAR (8)]

WGRUPPE [CHAR (8)]

GRPMATNR [CHAR (18)]

ORDER_CODE [CHAR (4)]

SPARTE [CHAR (2)]

ABMEIH [UNIT (3)]

LADZ_EIH [UNIT (3)]

LADV_EIH [UNIT (3)]

GEWEIH [UNIT (3)]

PRODUCT_AREA [CHAR (2)]

NOTIF_CODE [CHAR (4)]

PPM_METER [NUMC (2)]

EEAG

MANDT [CLNT (3)]

EAGRUPPE [CHAR (8)]

EANUMMER [NUMC (2)]

 EWAWA_DL_ETYP-EAGRUPPE = EEAG-EAGRUPPE 

0..N

1

EWIK

MANDT [CLNT (3)]

WGRUPPE [CHAR (8)]

WNUMMER [NUMC (2)]

 EWAWA_DL_ETYP-WGRUPPE = EWIK-WGRUPPE 

0..N

1

EZWG

MANDT [CLNT (3)]

ZWGRUPPE [CHAR (8)]

ZWNUMMER [NUMC (3)]

 EWAWA_DL_ETYP-ZWGRUPPE = EZWG-ZWGRUPPE 

0..N

1

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 EWAWA_DL_ETYP-GRPMATNR = MARA-MATNR 

0..N

1

 EWAWA_DL_ETYP-MATNR = MARA-MATNR 1

1

T000

MANDT [CLNT (3)]

 EWAWA_DL_ETYP-MANDT = T000-MANDT 
0..N

0..N T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 EWAWA_DL_ETYP-ABMEIH = T006-MSEHI 

0..N0..N  EWAWA_DL_ETYP-GEWEIH = T006-MSEHI 
0..N

0..N  EWAWA_DL_ETYP-LADV_EIH = T006-MSEHI 0..N

0..N  EWAWA_DL_ETYP-LADZ_EIH = T006-MSEHI 

0..N

0..N

TE055

MANDT [CLNT (3)]

FUNKLAS [CHAR (8)] EWAWA_DL_ETYP-FUNKLAS = TE055-FUNKLAS 0..N0..N

TE237

MANDT [CLNT (3)]

BAUKLAS [CHAR (8)]

 EWAWA_DL_ETYP-BAUKLAS = TE237-BAUKLAS 

0..N

1

TE431

MANDT [CLNT (3)]

PREISKLA [CHAR (10)]

 EWAWA_DL_ETYP-PREISKLA = TE431-PREISKLA 

0..N

1

TENOCODES

MANDT [CLNT (3)]

NOTIF_CODE [CHAR (4)]

 EWAWA_DL_ETYP-NOTIF_CODE = TENOCODES-NOTIF_CODE 

0..N

{0,1}

TEPPM

MANDT [CLNT (3)]

PPM_METER [NUMC (2)]

 EWAWA_DL_ETYP-PPM_METER = TEPPM-PPM_METER 

0..N

0..N

TEWOCODES

MANDT [CLNT (3)]

ORDER_CODE [CHAR (4)]

 EWAWA_DL_ETYP-ORDER_CODE = TEWOCODES-ORDER_CODE 

0..N

1

TPRDCTAREA

MANDT [CLNT (3)]

PRODUCT_AREA [CHAR (2)]

 EWAWA_DL_ETYP-PRODUCT_AREA = TPRDCTAREA-PRODUCT_AREA 

0..N

0..N

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 EWAWA_DL_ETYP-SPARTE = TSPA-SPART 

0..N

1


